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Bglerg: 20184 9 A 1 HE 20184 11 A 30 H
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ThRIBHE
# B Kit A& AEE £it
& it 57.13 57.13 57.13
RAK 17 17 17
iiﬁf;ﬁ EX 3 1.53 1.53 1.53
TG 37.6 37.6 37.6
MIEFEFER 1 1 1
BE (B) %E (D — — —
FE GE) FHE M — — —
4 i = - -
B+ CA) Bt 1 — — —
% (7 m3) B2 = - _
HERL — — —
£ it — — —
F+ B FEF1 — — —
£ (F m3) FEF2 e = _
EUFE — — —
E£EE (%) 100% 100% 100%
& LFH (hm» 13.32 13.32 13.32
BLv% (m®) 39962 39962 39962
XBHAFE (m) 5000 3000 3000
T3 FE (hm?) 0 0 0
EBFEHAR (m) 1000 0 0
TEEH (m) 0 0 0
AEREL ELEE D) 0 0 0
2HE ma R LHAH (m) 0 0 0
Wi (D 3 1 1
AKE D 3 1 1
HHEE (km) 0 0 0
FAHE (m) 0 0 0
BAS B 0 3 3
HEEE (0 0 180 180
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#KEE (m) 0 0 0
#MEER (hm» 27.77 15.22 15.22
(kg) 44000 21000 21001
- FHETE (kg 1000
Y ZERBRR (GO 0 0 0
HEEE (hm») 32.17 132 13.2
ErE#E (m?) 7000 7000 7000
S MEEr#£# (m®) 900 900 900
T RHEARH (m) 4900 2000 2000
TRADH (B 1 1 1
KERAD [ T & (mm) 50
HE T FA 24 /N T (mm) 55
B A R (m/s) 2
AEFLE (O — 243.48 243.48
AERAKEES %
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